


EXPLODED VIEW: EV AIR CLEANER D2.5L G2   

DRAWING #:  10000016924  GROUP D  
APPLICABLE TO:  

 

ITEM PART# QTY. DESCRIPTION 

REVISION: CN-0019638  Page 2 of  2 

DATE:  9/7/18 

 1 G025870 1 NUT WING 1/4-20 
 2 G022097 1 WASHER LOCK SPRING 1/4 ZC 
 3 G022473 1 WASHER FLAT 1/4-M6 STEEL ZINC 
 4 0G0190 1 PLATE, AIR CLEANER TOP 2.4L 
 5 0C8127 1 ELEMENT, AIR CLEANER 
 (1)6 G062974 1 STUD TH 1/4-20 X 4-1/2 G2 ZNC 
 7 G052619 4 SCREW HHC M5-0.8 X 20 G8.8 
 8 G022127 1 NUT HEX 1/4-20 STEEL 
 9 0E0519 1 ADAPTER, CARBURETOR W/PCV CONN 
 10  048031C 1 CLAMP HOSE BAND .50 
 11 0E9974 1 CAP VINYL 3/8ID X 1DP BLK 
 12 0E6586B 1 GASKET AIR CLEANER 
 13 10000013341 1 ST03 WLDMNT ADAPTOR AIR CLEANER D2.5L G2 
 14 0H3535 4 NUT HEX FLANGE M5-0.8 LOCK NYLON 
 15 0G1285C 1 CLAMP CNST TENSION 1.75-2.625 
 16 G059379 1 REDUCER RUBBER 2-2.5 
 17 086133E 1 CLAMP HI TORQUE 2.75 - 3.625 
 

NOTES (UNLESS OTHERWISE SPECIFIED): 
(1) APPLY MEDIUM STRENGTH BLUE THREAD LOCKING FLUID TO THREAD. 
 

 


